_ red Number

% _ Enter the

2G/202

PAPER - 11
- : sh & Telugu Versions)

“F Question Booklet S1. No.

1362630
Time : 150 Minutes : i : Max. Marks : 150
Bioctbin : 150 Daises _ s e il Sogo SFiyps : 150

Jg%seoes (Instructions in English — MM&)

1. (% 5508 150 0,0, 55 A (Indian and AP Economy) £-75-i5% 00, 25 B (Science and
Technology) & 75 (#pony. 58 B85 1 500, Seranoiedisd. 8 8y S3rgardd 173 5y,
BPOBED BRI,

2. (5% BiEBs08® ey e SuBosedss 85 STIESID0. () $ES00E 0, OMR SIS
BEEnd md D37 SusunS o Liss® SEETUY Joed BHEEIBS. OMR SIrers
$E528" Dot SThen Ked. TR DEBAHEE, Jeotsed G 2 roten Tois T8 e
S3rom. 30l 5 (2.6856) D APPSC Sarersosiio §50 Sobotods H:0ake Totss 5703 (350)
©g50 HRBLSHY, .

3. 3 G, Registered Number 5% 55505 D eriiiiod’ Eraisio. & 56 02 39 2 swroé (%
S0 Gty 3555550 (Series) @) 09 w0 B) ed 2 (© 0 1 (B) &2 0 S0Boseds.
ST S50 w¥3 3D (Side-1) $58 D eS8 3§ C B0t (HEIEBI0 Boo%), 3803
srtosess B)B) 0 D) oo e, B s S G S ST $EE™ 30awr
Sy dgiiootss e /a5 e myossolh WS o DeisisBie. BE Bises/RRyE) SRAFACBIRLLS.

OMR 5GP 3808’ (5% ¢ S Do e
G ; D 5% B o) 55500 A @oooRs s Bols SRS orr DB,
Bl (5%, S@ies oo, B5ass M5 Sind’ Side-1, Part-C & 50r $rDoistDon 85 5%
K S0 PRI BeoiENowi Deodor &%, Do Jesosiesd Pediso w8 Dcbivomd
RETERS BB $ONSBosnss (Invalidated). S8 Dentiod SETEFHBPTTN BloBwED.

4. 3o58D (Invigilator) G Sosto OMR S3rerd 3o 2 gl DgBoDS esend

565055 SO Voo OMR B57ers Bes’ S5Fanss eb SoNtioSuss.

23022025 1 PT.0.



EE 2G/202

5. 9% Is0 g0856° SairsHIabed Bedh griE’s SS Toedsh. SRS ¥k HBoD
St g0 39 Sk SEresson St snds.

6. (50 (5% TeolDd SSTERIies 535G, 0td” SOADID BIPErEn: WRE, TN OMR $5rers
S8 Beranoibsnds Sined” Ll Hdini Hf oS8, LETUET 353 HEwes
oD, &3 SETErSsn $oNtdountss. Skt JrOm 6 oLt ay/ers w*@:)cmoeﬁ 2
LI, I SotEen S KHKHe0 2407, OMR BIFErS Higed” o SETrasing mcgan*\é
3@5355/%‘5&}%5{;?5 Bresh Bor DGR BeEren 55503 D o RS S $ONcdo N
GO 1 25605 (5% oY) 2saen (2) S0, PR B $od DFIT KQoUSBL.

D@D |®

7. Sotaseond), Voo ml, Ades Adbio M), 28 Babeo md or BT & 56, ™1 ST W
OMR 83505 Sibo $8H3oNeesdss.
8. RMITLRSN00N DHBGS0 2 HBoUTE, B eBEWCIIT o SoNedoTucEes.
9. &5 558 (5% HBoER D36 22 SR Jard. I8 YT Dabord.
10. 5°3%58est, 3756580356 /o Sendy, BB P, wperd 35 JBocedy BB O 58308

o8 $osTuss B8 Fend'DE BRSTErEs, & 3@53355 SO8cePe ¥R wﬁlﬁé oD
Dedofre BoNE3oD 583303 $65 Bt s,

11. G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016 S5°Co, D w50 GO D30k /2
BooGersd b @’)oﬁé’.ﬁoiﬁéﬁé@ TS SDBINREN (3"3):» Bi0) SoBuks el K0
TS0,

12. 56§ oo’ egfthen 365 $0 edly 56 (2%2 Fiota00) &otiiBit. D el e 50Y 30¢558° D¢
BORBLOE ST KD DOBEIED, ;

13. 30§ Sfoosio 300 SUQYSHE, e 83 20836 OMR SITES B> (o, JB) NS ey
$E5R55008 (Invigilator) 33y, Bos OMR S5rees Siosd (S80) o8 DHSuo. 0858
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1. The Question Paper contains 150 questions. Section A (Indian and AP Economy) has 75 questions,
Section B (Science and Technology) has 75 questions. Each question carries 1 mark. For each
wrong answer 1/3" mark will be deducted.

2. Please check the Question Paper and ensure that it contains all the questions. If you find any
defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in Duplicate. Do not separate the copies. The markings on the first page
will automatically come on the second copy also. The first copy (Original) will be retained by
APPSC for evaluation and the second copy can be taken by the candidate.
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3. Write your Registered Number at the top of the Question Paper. On the right hand comer of

the first page, the Question Paper Series is printed as (A) or (B) or é or @ On the OMR
Answer Sheet, Side-1 at the right top corner at Part C, the Question Paper Series are marked
as @ ' © @ Darken the appropriate circle, as per your Question Paper Series with
Blue/Black Ball point pen. Gel pens/pencils are not allowed.

Example to fill up the Question Paper Series on the OMR Answer Sheet
If your Question Paper Series is A. please fill as shown below :

L_JONORO)

Ifyou have not marked the Question Paper Series on the OMR Answer Sheet Side 1 at Part C,
or marked in a way that it leads to discrepancy in determining the exact Question Paper Series,
then, your Answer Sheet will be invalidated without any further notice. No correspondence
will be entertained in the matter.

4. Please get the signature of the Invigilator affixed in the space provided at the top of the
OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated.

5. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.

6. Each question is followed by 4 answer choices. Of these, you have to carefully select one
correct answer and mark it on the OMR Answer Sheet by darkening the appropriate circle for
the question, If more than one circle is darkened, the answer will not be valued at all. Use Blue
or Black Ball point pen to make thick mark to fill the circle completely. Make no other stains
or marks. Using Whitener/Blade/Eraser/Chalk Powder or any kind of tampering to change
the answers on OMR Answer Sheet will lead to invalidation.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

1HO|@ID|@

7. Do net fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

8. Do not mark answer choices on the Question Paper. Violation of this will be viewed
seriously.

9. Rough work may be done on the last page of the Question Paper only. It should not be done
anywhere else.
10. Any type of Electronic Devices such as Calculators, Mathematical/Log Tables, Mobile Phones,
Bluetooth instruments etc., should not be brought into the Examination Hall. If found in
possession of such devices, it will be considered as cheating and strict action taken.

11. As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use
any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

12. Candidates should stay in the Examination Hall till expiry of Full Time i.c. 2Y Hours. No
candidate shall be allowed to leave the Hall in the middle of the examination under any
circumstances.

13. Before leaving the examination hall, the candidate should hand over the Original OMR Answer
Sheet (top sheet) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.

Taking away the Original OMR sheet is a punishable offence.
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1.

SECTION - A
INDIAN AND AP ECONOMY
As per the Economic Survey, 2023, which of the following statements correctly describe(s) the
trend of Foreign Direct Investment in India ? : EYE
a. It has decreased due to less participation of the private sectox}_' ’3 g ;

b. It has increased compared to the prepandemic levels.

c. It has increased rapidly without decreasing in any Financial Ycar after the telecom sector
was entirely reformed.

d. It has decreased due to a weak global economic situation.
(1) aandconly {2) banddonly
(3) a,band conly (4) donly

08 1585, 2023, BT, grostied” B! e Deputioe Hokl Eod T3 O EELN(©)
DSB8 /BTy 00 ?
8. (oSS Solo grRrssg0 SESIT &otkesos’ 50 SAod. %
b. om0l oxnes FOY 30 2OAE. ' o
c. &dso Soio :.’goam ,oo:}eoam SO D Q8 oSBT I B0 S 20R0S.
d. a:wéﬁa:s (0l Qs a&g@ seaor 30 Bhod.
(1) aai;&a:incsﬁni’a?i) (2) b So8ai0 d SR
(3) a, b SoBA%s ¢ ST (4) d SrE

. Which Article of the Indian Constitution empowers the Central Govemmem to extend Ioans

to State Governments ? 4
(1) Article 292 (2) Article 293 (3) Article 294 (4) Article 295

BIEE Sois (5800708 OB E0Tgets Soeres S0t T% efsBo 5708 Terolod™ O efsteo

B

3.

o0° &0d ?
(1) es555292 (2) 3056 293 (3) o5& 294 (4) es055 295
. o A 2

Which among the followmg statements is correct ?

(}) Balance of payments includes current account and capital account
(2) Balance of payments includes only capital account

(3) Balance of payments includes only current account

(4) Balance of payments includes only export and import account

B8 (§00 35508 20 $OSO ?

(1) Do 27B5yoS 5005 grTr o000 KaTOGS FT° SOLTO iy
(2) 3800 wéasg o JoTOSS PT I G0Lod

(3) DYDY wBSYE’ Kokl gree S dotnod

(4) 30D eBHOE" e S0k BIHLILD grer JrEh &0e:35D

4 (B)
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4. Assertion (A) : The Indian economy demonstrated res;,l:ence despite global gea;;ai;tzcaé
challenges. s

Reason (R) : India’s fiscal and monetary policies enswd economic and financial stabﬂity

post-COVID.

(1) Both (A)and (R) are true and (R) is the correct explan ﬁg)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

565 (A) : 5505 RS cvesban sy aysesd ardilesgs S5 RBSEED 3500000,

wﬁm (R) : g7680%0 Gl esfS $o0akn B35 IFT°e
6‘_’5?3& oo, &

(1) (A) 38050 (R) Todor $85 Sodckv (R) @3&(

(2) (A) Sobas» (R) TS DO, S { g

(3) (A) 38,50 (R) 5y

(@) (A) By, R (R) 30

5. Which of the following statements is/are correct ?

a. India’s overall SDG score has improved to 71 in
with Kerala, both scored above India’s overall S

b. In the latest SDG India Index 2023-24, Andhra sh is placed in the “Front Runner”
category. EYE

c. Arunachal Pradesh and Meghalaya, each with scores above 75, are placed in the %3%
“Achiever” category. :

d. In the 2023-2024 SDG Index, Lakshadweep and Uttar Pradesh scored significantly above

3-24. Uttarakhand shares the top spot

_the national average, demonstrating notable progfess compared to other states.
(1) a, b only correct 2) b &ouly correct
) ¢, d only correct (4) a, dg@nly correct

@ob (B50SE” STIB(D) 28() 2
a. gro8ddo oot 30080 SDG 25 2023-24 & 71 g M&m aorpol SEVE i)
Sott0, BoGr FrEsEo mgbmao SDG 25 %ofS 255 28 Swow.
b. erer SDG gobasr 3088 2023-24 &', esoi B8 “FoeS-655” 388" sotndod. ENE
¢. edersd 8§ so0ams osrean, eS e 75 8o I3 bl “wdsE" Wed @
GO0 ; )
d. 2023-2024 SDG 30258, o5b 5% S0 &S $BE =B BHe Sold Kedaborr JEySm
6 Darow, 386 o5 2603 DSy :;,sﬁnwzﬁcsaaww
(1) a, bSrEdD ;sgéa
(3) c, d ST V05D (4) a, d m»@;ﬁo :.ng

.....
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6. Statement A : The RBI announced a temporary I-CRR of I{}jp‘m cent on 10 August 2023. @rE

Statement B : This action impounded about Rs. 1.1 lakh croms jrom the banking system. &g%
(1) Only statement A is correct
(2) Only statement B is correct

%Mg are correct |

oth statements A an are incorrect
gargso A 1 RBI 10 esiies 2023 § 10 2280 W@“&wf" I-C
Trggrssio B 1 Be UG a?svém | 295358 oot B X 1.1 ¢
(1) Trgargsso A D.J”é:i) NS
(2) Tggrgo B S $856

(0 =yoymes A 5000 B ot 5050 )
(4) Tgergore A SoBain B Sods rogéb i)}

7. India’s rank in World Bank’s Logistic Performance Index in 2023

(1) 15 (2) 27 (3) 38 ! (4) 49
2023 & (5505 a5l BOK Sares SIS 53D (S5 20\Biynoasy) & groudvo ool
(H 15 (2) 27 (4) 49

8. In the Union Budget 2024-235, the GOI has promised ﬁmdm the following industrial nodes as

part of the development of the Vishakhapatnam-Chennai and Bangalore-Hyderabad industrial
corridors

(1) Kopparthi and Orvakal {2) Chittoor and Donakonda

al and Donakonda 4) Kopparthi and Chittoor
Sos gl 2024-25 &, Dpesino-0% ooaks Boi-PECTd TOFNE ST (SOFE)
e*)é}é\&ég qJ"m_,RS D 0@l a”czeﬁ: 08 (55080 B8 B S0 eodd 3508 ¢ EI

DS L5:50 (2) Dzt ;faa@m BT

(3) &Cﬁﬁﬁ SO0 BT ok (4) £:5,8 358etco DET

9. Which of the following is not true about globalization and its impact on India ?
(1) It has expanded trade in goods and services

(2) Ithasled to greater flow of Foreign Direct Investment
et e S )

{4) Increased India’s access to foreign technology and mvéMem

ED0DESE Hodan FrESBHo o Fgrso KHBod dod 3..355& ‘““* Qo T ?

(1) 38 Sxepe0 Sodain wFes” Tl Dbolod

2) 25233 B85S Seaeiion RN TS e T Eota)

oy

E =
i

gy

[(3) SRS BEKES S0l JRaSoae BSOS 5D ]
(4) rosdadd D08 PoSBES SoBAko BERWELE BotErtns Dolod

6 ®)
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10. Assertion (A) : In Andhra Pradesh, the coverage of faﬁ?&rs under Pradhan Mantri Fasal Bima

Yojana has been increasing over the years. g

Reason (R) : In Andhra Pradesh. significant crop losses ot;cxzrred to farmers due to extreme weather

events in recent years including floods, droughts and cycioncs. EYE
e

(1) (A)is true, but (R) is false RE’

(2) (A)is false, but (R) is true
(3) Both (A) and (R) are true, but (R) is not the correc!&planatwn of (A)

(4) Both {A)and (R) are true and (R) is the correct exgiailanon of (A;

TS {A) o RAES" RErssso® 6 s Borws @@ﬁm 5868 oSy BELIOE
508.
5030 (R) 1 soEB88” 26350 Kosthored® $6t5es, K> S0 Sogrse Soe Ads o5t
REROLSE STEIONT TBLES KRS Sot $peo SogoTom. '
(1) (A) Do, 50 (R) 835y

(2) (A) &3y, 52 (R) Do %
(3) (A) 06050 (R) St Jezo, 50 (R) &30 (A) & 0% D560 S

() (A) 500050 (R) Goter D60, S00050 (R) 60 (A) mz,:ssa :}:xs.eg

11. What is the significance of the new payment settlement framework introduced by the RBI
in the context of the Foreign Trade Policy 2023 ?

(1) It discourages the use of the Indian currency in cross=border trade

(2) It aims to encourage the use of the Indian cun‘cnc;gﬁ cross-border trade

(3) It eliminates the need for foreign exchange reserves -

(4) It increases transaction costs for exporters f,

YE 938 Trelesy DgeSo 2023 S8’ RBI $3¥eds 58 30op S0 Joyeso (eddooes
05058 o) @Ersoogyds Saues ?

(1) 30 3055 Tedessos® roban B (8550 xmg‘%éwnomm& DT HER00

T Tt O D S ese e ot B o

(3) 30 BB 308 oo BSHOR) FoAssod -

(4) 30 JHBDEEEE St PERO DoBE

El#E

7 (B)
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12. Which of the following is not correct regarding the railway projéet under Central Assistance

13.

14.

15.

approved by the Union Cabinet for Amaravati in Andhra Pradesh 7 %
(1) The proposed railway line is between Errupalem and Nambur « &
(2) The cost of the project is Rs. 2,245 crores for 57 km

(3) The line passes through NTR and Guntur Districts in Andhra Pradesh and Khammam
District in Telangana

(4) The proposed time line of the project is 6 years

SOGRBEET 950758 S0 Soils SoodSGo RO SoEs ;sg%m gecs BE; B0 dowofod
8o $08 Te3E° DO HT (e S 9 % EZE

(1) BSOS 38 BS JEoTBo 5000 Sourtd Jog &od _g :._v_.._;- E%
(2) s 2B Sgoibo 57 §5° e 8. 2,245 Fexy |

(3) & B8 BS esoREAEE"S JResb H0A Kooeurth B Jotiarm Jo00kn Boorred™ o
Ber D05 IBOD

(4) BS P00 Fovdd 6 SoSHTw

Whlch Indian organization is responsible for estimating the Natmnaf Multldrmensmnal Poverty
Index (MPI) ? =

(1) Planning Commission (2) NITI Aayog _

(3) Reserve Bank of India (4) Ministry of Finance

S8 30DEB0358 3§ 30885) (MPIR &0 Sa30aD3 O erobab Hop ergsstriod 2

(1) Sed8 Soe (2) NITI esc3oh,

(3) 6&355 ergo8 e godasr (4) 88 30088 -avq:

.....

1) Direct taxes and subsidies (2) Direct taxes netﬁ subsidies
3) Indirect taxes and subsidies (4) Direct taxes and- d.eptecmtlon "
P50 Oy mg DP 200050 S0 (00 3¢ GDP © 5085 S5arso D soso(es) S680 7wl
(1) B &0 0000 SEhden (2) D86 dEnGe S SSoed
(3 :agg Basone0 S8 SDees ) (4) (e85 Soye0 3G BT
As per the Budget estlmates of 2{}24-"5 the percentage of public di;bt in the GSDP of

Andhra Pradesh in EY.2024. as
(1) 31.46% (2) 34.14% (3) 33.71% (4) 32.60%

oS BE 8155 2024-25 B500, 2024-25 &85 S80S’ eoBFGSDP Spghiss S g8o
FT° wosa® Iadwdod.
(1) 31.46% 2) 34.14% (3) 33.71% (4) 32.60%

8 (B)
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16. What impact does an increase in the GNP deflatgy
(1) Increases purchasing power
(3) No impact on purchasing power

P
GNP &568 280r6e tay Tofi'es 38 Jovod Sersio Srigpeoo?

(1) Eofes 383 Dodedood (2) THoR'es 308008
(3) Fsof'en #3D (Pgrso &oid (4) 58 eSS BoBed
17. Which of the following measures is NOT typically used to correct a disequilibrium in the

Balance of Payments (BOP) ?
(1) Devaluation of currency

Z‘éé’)o‘@e) er58%y (BOP) & @ammeéasm :aeéo:ammé Eob el
SEBrAoSREE: ?
(1) SBNQ Qe BHOD

2) BX508 Bo0SPOS 00
lg?;) SB SrE%en pehi ScoSridy Bhodto
(4) BB el Dégextiesd (FDI) gg)‘e‘ﬁamcr:ﬁcéo &

18. Which is not a correct statement regarding Rytu Bazaars in Ancﬂ:u‘a Pradesh ? m
1090 ]

LRyt Bazaarswere cstablished in the vear :
l 2) Dlstl'lct Coilector is the Co-ordmanng afficer of Rytu Bazms

%) The priccs in Rym Bazaar are ﬁxed aimmg to be around 25%above wholesale prices and
25% below the local retail prices

SOERBEE Bt weErgss Mool §obd 38 98 RSB (S S 7
(1) Begoa‘do 1999 6‘ SEROTEEO

(2) B werd 25;33;55053 SO0 B 5356
eer SRS° od 0

“4) B> er5ED c‘,SCﬁen S St soej 25% 55 $o00%0 %mgwé 60 SoiS 25% S
&l 05508 Aooietimron

19. What was the purpose of the 49 fine-tuning operations conductcd by the RBI during FY 2024 ?
(1) To tighten liquidity conditions
¥ G i i

| (3) To maintain liquidity conditions in alignment with the monetary policy stance
1y
FY 2024 & RBI 3 aqsmosaa&z 49 38 w5:>oﬁ SIS 0%
(1) g s “{5@@@;&3 835860 Dobardd
So JaerRd

9 (B)
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20. Which of the following mechanisms is NOT primarily followed by the Reserve Bank of

21.

India (RBI) to manage exchange rate volatility ? - 4O
() Fiscal Policy Adjustments | 5@

(2) Foreign Exchange Reserves
(3) Market Intervention
(4) Liberalized Exchange Rate Management System

80B DTred’ 570yd Sexn efsBi DERroisERS Basb; ersof &f godatr (RBI) erson B
330055 ?

() egé DT éﬁww

(2) B3 365 Jeged
(3) 3335 &0
(4) %GB S Teo e H¢O

Match the following Central Institutes established under the A. P. State Reorganization Act, 2014
with their locations. (Common codes for English and Telugu Versions)

a. Indian Institute of Technology m¥E 0 1. Kurnool

b. Indian Institute of Management ' _... ii. Tirupati

c. All India Institute of Medical Sciences  * -+ iii. Vizianagaram

d. Indian Institute of Information Technology =~ iv. Vijayawada

e. Tribal University v. Vishakhapatnam
OGRS T DT IREBE 5630, 2014 Bois DBV B Bod Sobad Sogoss T Frod
$0Fencd.

2. 3oBaHS 5Dy LoryeS &b Sed i Smye o)
b. 30Gahs 30y tarsed s odB05 il BEoNs (=]
c. &6 q0lalr g eoryed D JASS BHO L il eSS
d. godals gy eavgeS &b 3N Gad Ssyed iv. DesoTed
e. Adess FATrgoadoe V. TPBEN0
Codes/5°Gen a b c d e
(1) i ioodi v v
(2) ii v iv 1w IH
€)) W W Ve
(@) i v i

10 (B)
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22. Statement A : India is the largest producer of milk. ErE
Statement B : India is the second largest producer of fruits, vegetables and sugar. & :

(1) Only statement A is correct i~

. o

(2) Only statement B is correct €23

(3) Both statements A and B are correct ’awgl
(4) Both statements A and B are incorrect

TGePs0 A 1 grOSGYe B o &SHBT. EYE
Tgarso B : grosio Tots & b S0y, wnvcmm SoBak0 SHE &HBT. [

(1) Tgargso A SovEa $030 4

(2) argso B 3r@d 5350

(3) ot Tgwrsres AS0aiv BISSD =7
(4) Sotd Tggrgoren A 308w B 25953) o=

23. Which of the following statements about non-plan expenditures of the Central Government is
correct ?

(1) The expenditure 1s on interest payments...

¢ expenditure 1S on science and technology
(3) The expenditure is on agriculture G
(4) None of the above m&

Sl (©80S:0 Bk (SerPEBE (non-plan) spcsaaea 80D Bob @858’ 26 K336 ?
(1) & ot 56 SPoped )

(2) S Pt DSy w0k TSR

(3) e 9ty Jgsrato D m

@) >3V e o

W\»

24. Assertion (A): Transfer earnings are not to qgmciuded in the estimation of National Income.
Reason (R) : Transfer earnings are not payments for factor services.

(3) (A) is correct, but (R) is not correct
(4) (R) is correct, but (A) is not correct

SES(A)  : 2Beh srabo eosTE’ eae,ag;gawam B5psD. %

T5es0 (R) : 200 esorairen 80 D30
(1) (A) 558050 (R) Botsr BB 2080 (R
(2) (A) S08a%o (R) Bodir 982 ook (R
(3) (A)=338, RV (R) $B0 T
(#) (R) %3350, SR (A) 0350 56

530 (A) G308, 505 D53
(A) oS, R0 D0Es 560

11 (B)



%;E 2G202

25. What is/are the goal(s) of SEBI’s new move to introduce T+0 settlement ?
I. To enhance liquidity and reduce settlement risk in the stock market. EE
II. To minimize counter party risk and enhance market efficiency. E%
ITI. Potentially reduce the impact of market volatility on se@%emem.
IV. To increase operational expenses for market participants.
(1) Tonly (2) I, Il only
(3) L 1L III only (4) All the above

SEBI £¢r 5382635 T+0 2¢38300e5 By 9675 oo 200632

L (9&ed) E55508R Doisto 5obaks FE 5555e’ (a@ﬁéﬁxss 0% BB ERrTrRy Bhosito.
IL 8% corddER 380 F§ (Fotond) EXror) Shoico $0aks 3r3)es gy dosco.

IIL 500 S0l eR0s Herard) Sogrsgon Sfoso.
IV. 3555 gridrgsionots (FrQhnoty) SPogides PUinoms doseo.
(1) 1573 _ (2) L I1 35

(3) LIL I &T’{ﬁ I 4) géf’:&

26. Match the following minerals (List — I) with the erstwhile dlslm:ts (List — 1) where they are
predominantly available. (Common codes for English and Telugu Versions)

List 1 List - 11
a. Apatite - ) 1. West Godavari
b. Asbestos ii. Nellore
¢. Ball Clay % iii. Visakhapatnam
d. Mica @ iv. Kadapa
Eod PAeress (2rde — ) 02 Sersor ofod 6 sred’ (o - IT) 50Feed. s
o -1 At | | '
a. 5635 i, 93y Aorse
b. ey i, Sero
c. 63 iii. DFPSeno
d. e v, 5%
Codes/S*Ges : a b c d &
(B e i - AV, £ 30 Sl 3
@) c fil. W o /i S
@ i i @i v
(@) i i iv i
12
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27. Match List — I with List — II and choose correct answer. (Common codes for English and Telugu
Versions) B S

List-1 % List - 11
a. Monetary Policy = i. Tax Rate
b. Trade Policy ii. Margin
¢. Credit Policy iii. Imports and Exports
d. Fiscal Policy iv. Bank Rate
hor — 19 erdor — 11 8 es56D 308 S5rgrd) Jows’od.
AL | edoe - 11 :
a. (585 o i, %50y e »
b. &6 >ob  EHRE i, 5798 €
c. BASdod © il BrONBse 33001 IS0
d. Q% dgrso iv. ergo8 3e5
Codes/S*Eex : a b ¢ d
(1) iv_ i ii i
@) v i i i §
(3) @i i i iv
@ i i v il :

26. Chadalawada village where a Cattle Breeding farm s established under Gokul Gram Project under

Rashtriya Gokula Mission belongs to which District ?
(l) Guntur (2) Prakasam (3) Nellore (4) Srikakulam

o DonSE F0d (rso 8§ Bos 3% aBB Fo (égﬁes &R F50) Doyt Bowds
zﬁdem"d (P500 @ BLrEd 3oBIB ? o 5
(1) rooewrso (2) EsHo (3) dartd | ';f;;:;f:j 4) Jswvo

29. How does the introduction of the Standing Deposit Facility (SDF) enhance the Reserve Bank
of India’s (RBI) liquidity management framework ?

(1) By increasing the overall liquidity in the banking system

(2) By absorbing surplus liquidity without the need for collatera
(3) By keeping the cost of iquidity for commercia

(4) By providing long-term loans to banks at lower interest rates

rodofl drezes 3¢ (SDF) 334 Déeaseoo 8 Besbg a@g (RBI) (3355 0855 576
S N7 E080 (@§5n§¢3 3)53?&30@5 PSoxb),) do ?)JMQ‘MO& ? &
() arioéoﬁ 35553556 Baoigo @iy oWt (B84 Do TN
(2) (eso50%) 590/ 8y (collateral) eam S0 MWW
(3) reies; ergoton DaGE PO2D0 RO GOSEO 50"
(4) wroo B8 56 6% BESdE trred eobodco Ty
13 B)

EPE
a0
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30. As per the second advanced estimates of National Statistical Office (NSO), MoSPIL, GOI, what is

the sector wise contribution of GVA at current prices for the year 2022-23 for Andhra Pradesh ?
(1) Agriculture-36.19%, Industry-23.36% and Se.rvicésm o

(2) Agriculture-23.36%, Industry-36.19% and Services-40.45%

(3) Agriculture-40.45%, Industry-23.36% and Services-36.19%

(4) Agriculture-26.19%, Industry-33.36% and Services-40.45%

OB (540 erdAD Kerol Sorgecho (NSO), MoSPI 8ot $05065 @oisare (3560 2022-23

sﬁoééﬁqmi}é:i;’:"mé S0 38 5085588 GVA &° G Sorre it o089 E¥E
| (1) S55rc00-36.19%, $565>-23.36% Sodokn H3e0-40.45% _J i E%

(2) S5e5raoo-23.36%, $0Es0-36.19% 000k wSe0-40.45%
(3) S5raioo-40.45%, $01:53-23.36% o803 BS5e0-36.19%
(4) Sgsraioo-26.19%, $0i5-33.36% 080w D5eo-40.45%

31. Atwhat subsidized price per Kg did the Government introduce “*Bharat Rice™ for selling through

NAFED, NCCF and Kendriya Bhandar ? %
(1) Rs.2 (2) Rs. 29 (3) Re. 1 "~ (4) Rs. 12

b'g I NAFED, NCCF 300033 Sofa% 066 00 0008 (96085014706 35 0 86°8 0 sihd

32.

33

fatel i} Lﬁﬁé@a&éoﬁ 2
(1) Rs.2 (2) Rs. 29 (3) Re. 1 (4) Rs., 12

Which International funding agencies committed to fund the Amaravati Capital City Phase-I
Development in Andhra Pradesh ?

(1) World Bank and IMF (2) World Bank and Asian Development Bank
(3) World Bank and JICA (3) World Bank am European Commission

eoREES° B30rSd se0d 263 -1 & Desoew SESoE 08 eoﬁmc‘i wosgdAb Voo
B0 D ¢

(1) 550 ergesd Sodakw JodP (2) 3505 ergosH odakn esval @E)q)% i—ﬂ"éoéo
(3) Sshos ergos0 SOOI ES" PRSSREEENCES 3T0 AR =S ]
Which among the following classifications of unemployment is p_ye;_iommantly correlated
with the agricultural sector ?

(1) Cyclical unemployment (2) Seasonal unemployment

(3) Structural unemployment mn%oymT' S
NEE 5o Book), Bod 388508’ D8 Hersont Ss3dra Sotios’ Sosk A &od ? 5%
(1) San deodro i(z_) SROE mm&"gﬁo i

(3) doyeres Vo (4) $965/3039p WoBsHo

14 . ®)
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34. Which external funding agency is supporting the Andhra Pradesh Integrated Irrigation and
Agriculture Transformation Project ? :
(1) IMF
(3) Asian Development Bank
oSEEE o3 RGE FORNS SHBCK0 IS A BOSES PESE
(1) IMF (2) B0 ersos
(3) o e erge (4) oo '

(2) World

35. How many Rythu Bharosa Kendralu (RBKs) has the Government of Andhra Pradesh established
according to Socio-Economic Survey of Andhra Pradesh 2023- 2&“’

ap
(1) 10,778 @) 1,104 (3) 33,120 . (4) 53,580

BB JESE 15 2023-24 F00 OGBS B80S0 I W& Fooresd (RBKew) donyew
Dod 2 _f'::

(1) 10,778 (2) 1,104 (3) 33,120 {4) 53,580

36. Statement A : [n AP, capital expenditure constituted less than 15 per cent in the total
Govemment expenditure during 2016-21.
Mﬁ% Statement B : Capital expenditure reflects the State’s con

ent towards infrastructure

creation. 3

{1) A istrue, but B is faise (2) Ais false, is true

(3) Both A and B are true (4) Both A and B are false

B85 A : oGRS 2016-21 305 Soos’ 30080 (LLSs I5A0E STOS Jaito T

15 32850 Soid sy @od. ElE
e B 1 So0r0gss Sgaio S37E HEoSPaire Sund B6) CRIBGEN I ATARGIAY g%
(1) Adeo, 0 B 85 (2) A &Sy, VB0

(3) A S08atw B Bot> deso (4) A S0 B*‘a*m 83y

37. Which principal methodology is employed by the National Stggﬁhcal Office (NSO) as the
standard mechanism for assessing and quantifying the unemployment rate within the Indian
economy ?

(1) Quarterly Employment Survey (QES)
(2) Annual Economic Survey

(4) Periodic Labour Force Survey (PLFS) ¢,
G5 B8 HTE DB S oo SO AALETDS mm%bmm erBots Hewol
seorgodo (N SO) 3 P o@&:ﬁ RSTe3E aboEroRon® G
(1) @B57dEerd 58 (£56°53) (QES)

(2) ;:wgg e 50
& Do ¢5-D5E e BBc

(4) HB0aS Besb ﬁﬂ% (PLFS) (5558708 w05 88 63859)
15 (B)
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38. GDP deflator is the most comprehensive measure of inflation as it is the ratio of
(1) GDP at National prices to Local prices
(2) Real GDP to Nominal GDP

(3) GDP at Low prices to High prices

(4) GDP at Current prices to Constant prices

EYE
GDP 8366 538 $od T3 A5 5508 098 BT geno @) edod SRS Sl m

(1) erBAD o 3¢ 0Bk VS 55w 3¢5 GDP
(2) T%3 GDP & 3080 w8057 GDP &
(3) 855 §550 3¢5 000K O (30w 3¢ GDP &

(4) @228 S0 3G D00 ’ﬁéﬁb&ﬁ ates) 5 GDPE ] -
39. Assertion (A) : India’s real Gross Domestic Product (GDP) grew by 8.2% in FY24 despite global
and external challenges.
Reason (R) : The focus on maintaining macroeconomic stability ensured that these challenges
had minimal impact on India’s economy.
l(l) Both (A) and (R) are true and (R‘; is the correct exp]anatlon of (Al,
(2) Both (A) aﬁ) are true, but (R) 1s not the correciexpianatlon of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

EIRE 5555 (A) : (55015 S50Ba0 eriin 9e) dsyyedd FY24 & e84 3755 GDP 8.2% 20AcH.

BRI ;8mo (R) : $T0 €95 o) F8P-fostod cs“);;,éqésaomo g S N FROS QY Sy

SENS (3gTT 0y .‘.").}”;3"0.1}

[ (1) (A) 5:8050.(R) Bokor Deso 508050 (A) % (R) 5389586
(2) (A) So0cio (R) Boder Jeo, 5°0 (A) 5 (R) 58S Qéém 580
@) (A) dexo, 5D (R) 85y
) (A) &5, =2 (R) .‘U&o "

40. Statement A : The Gol fiscal deficit R E for 2024-25 is 4.8% of GDP.
Statement B : It is higher than the Fiscal Deficit B E for 2025 - 2026.

(1) Statement A only is correct (2) Statement B only is correct
(3) Both Statements are correct (4) Neither A nor B is correct
%6355 A : 5708 36035 R E 2024-25 es0¥ &°¢2> GDPE’ 4:8%.

%% B : 30 2025 — 2026 B E &9 &ex eosio S 545

(1) ©5635 A S 5856 (2) 5B SrEdo H3SO

(3) Bok EE0Ses SOSD (4) A 558650 B Bo&> 56 5%

[=]
e
10

16 . ®
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41. Match the following irrigation projects (List ~ I) with the rivers on which they are located
(List - II). (Common codes for English and ﬁlugu Versions)

List-1 EE

a. Somasila reservoir m
b. Thotapally project

¢. Annamayya project iii. Manneru
d. Rallapadu iv. Nagavali
Eob DIDtotie B (D - ) T3 $ouododss 5008’ (e — II) 5o,
e -1 o - 1
a. PS80 deorgahd i. g@;ﬁ:@d}
b Sespoas ii. By
¢ essoois =8 i, 355,00
d. o iv. ISP
Codes/S*Gen : a b ¢ d
(H i i i
ru} i iy
(3)..: @ iv
(4) 1 v

42. According to the report on Relative Econémic Performance of Indian States (1960-61 to
2023-24), prepared by Economic Advisory Council to the PM, what are the individual shares of
Andhra Pradesh and Telangana in the National GDP in FY 2023-24 ?
(1) A.P-4.7 and Telangana-4.9 ) . (2) AP-49 and Telangana-4.7

P-4.3 and lelangana-5.1 /+(4) A.P-5.1 and Telangana-4.5
EIRE] TS50 eg Sis® 300D Saird> 33 8 _swa:& DBy 655 Rodadd 65y (1960-61 Sood

 2023-24) 336 B0 2023-24 &8 a’bo;.’)é;)ciﬁ POk BADS" eoEEE S0 Booe TEhY
SENS T TS0 D08 7

(1) eogEsas-4.7 3o8ckn doormres-4.9 (2) SoEEBtE-4.9 Sodcko doorres-4.7

(3) soEA$-4.5 o8k deorre-3.1 (4) escKRds-5.1 So8ax0 Bvorre-4.5
43. Which initiative was launched to provide a tap water connection to every rural household by 2024 ?

| (1) Jal Jeevan Mission (JJM) o (2) Swachh Bharat Mission (SBM)
‘oshan - (4) AMRUT

(58 grhoe 30638 2024 T°e38 Kovron D63 m@mgﬂlé 0 w500 rScdosedod 2

(1) 2o &35 2058 (JIM) S (2) B grEE S (SBM)

(3) PM oo (4) AMRUT (e38)

17 (B)
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44, Which of the following statements is False ?

(1) Exchange rate is the rate at which the currency of one country exchanges for the currency
of another country

l (2) A direct quote is the number of units of a foreign currency exchangeable for one unit of

home currency

AN exchange rate regime is the system by which a country manages its currency w1th
respect to foreign currencies

(4) There are two major types of exchange rate regime : floating exchange rate and fixed
EYE exchange rate

g% Bod BEses® D& 835y ?
(1) 55765 B wodl .8 B¥o B 50X 28 o Baoy, saaaé 550 e
L e —
() 335 5 @36 ek abrdeS 55 5808 570y Datbifo DBRTBY G0, ciorde; @O@L]
G) 555 5‘55&:&3 oo 080 5% %532) T Ow SgSisiso SrEED 335 =PoS e50ETED

@) 3755 5&0 DosE’ Bothy HEES Ssen &amon : PFedoh SroE G S0k B Srso
Bex

45. Under the Industrial Policy of 1991
(1) The mandatory convertible clause is applicable to all term loans
(2) The mandatory convemble clause 1s apphcable to term leéans of more than 10 years
gans of less than 10 years

(4) The mandatory convertible clause is no longer applicable

i
1 D08 Ao @sebo _ e
(1) S50 55:08 Dexoesss 6y 08 8ot 35875900 =
(2) S50 K5xded Dotk 10 538100 o8 M 0§ F'Set> 388300

3) SDB K5cOed D 10 S0 Eod3 %35 eas & SotH 585008
(4) SHB ES350es QoS 38 $PoBE

46. According to AP Industrial Policy (4.0), 2024-29 one of the fo‘ﬂm\ ing statements is not correct
with regard to MSME sector in Andhra Pradesh. e

(1) AP accounts for 9 lakh registered MSMEs as on February 2024 according to Udyam data base
(2) Majority of the MSMEs are concentrated in service sector-accounting for 79%

(3) There are 28 exclusive MSME parks in AP

(4) The MSME sector is contributi_ng 33.5% of GSDP in AP

AP FrO@2n% Ao (4.0), 2024-29 (5760 es05EB86 0 MSME Sorrid Sonofod $ob
(350308 DB H00 S0 2

(1) &S50 Berdd 560 P@isd 2024 738 AP & 9 efp ssme: MSME 20 G0
(2) MSME & 255 g7 (79%) dardoiiod’ SofsBa eapom
(3) AP &° 28 3858 MSME Sr&yeo éomyow =

[(4) AP GSDP & MSME &oiio wodos e 33.5%
18 (B)
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47. A budgeting process which demands each manager to 3 astify his entire budget in detail from
begmnmg is

(3) Zero-base budgetmg

TR0 aGgeond 303¢5ed 300G ST Heo

1) yosaé ezl (@2) 378
(o) &5°-85 wgescf ) @) 3D T
48. One of the following is not the standard incentive to the industries offered by Government of AP
based on the AP Industrial Policy (4.0), 2024-29.
(1) Decarbonisation subsidy up to 6%

(2) 100% stamp duty reimbutsement on purchase of 12
3 Rezmbursemem of 100% fee charged for land con

nd lease of land/shed/buildings

SRR O T : B AT 000 SO@0% eodod @Hres
*ﬁ@“azsﬁgo 5 ?
(1) SsoREas siyi 6% 358
) 27 Sisofen Sobaio g7/ /4i5me B 100% 0D Gyl B8R 380D
3) 57 SO B DooseAS o 100% SO0 30a
(@) D58 Soarelss ntned Koger 15% S3elS oﬁlé

49. Post-economic reforms the Indian economy saw a shxmardq
rnment control 2) Reéueed foreign trade
(3) Enhanced globai integration l (4) Dedlinie in private sector growth
€388 Bo 080 LOCE0 S“m Q% g0 Eod DL Hogod
€} @m Dahogses 2O (2) 258 3“93&350 Shod
(4) pSeScors w}@és‘ émfa

a. High inflationary pressures due to increased Government spendmg. @

b. Decline in industrial production and sluggish econb@c growth. g‘?ﬁ

¢. Decrease in aggregate demand and consumer spend

d. Appreciation of the domestic currency leading to rﬁ&ctwn of export competitiveness.

)

(1) aand b only (2) band conly
(3) a,canddonly (4) All the above —_—
208 36" D s grEs efs 5358 3pEH T hgo0) 0 BokNed ? E.“‘ :

a. DONS (HE0Sg ;sgcﬁ,o oo &S LT 5grs e8d.
b. BF00Y &HBE’ §ead SoBA0 So0BAOD e5Q8 o
c. Sooge 2ol H5ass DEFHCTEOD séomoﬁ BHHQ.
d. Db s, SHosERd robdhs B¥ak S8R DEes BBorbse.
(1) a 580 b SrEds (2) b 338850 ¢ ST
(3) a, ¢ Sodckw d SFEHo {4) x;swé
19 (B)
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51. Which of the following are used for measuring of the high-power money supply (H) by RBI in India ?
(1) Currency held by the public + Other deposits with the RBI

(3) Currency held by the public + Cash reserves of the commercm‘f Banks + Other
deposits with the RBI

|

(4) Currency held by the public + Cash reserves of the commerc:al banks + Time deposxts
of the commercial banks + Other deposits with the RBI

rOSBE0S ©s-556 350 53 (H) G, Sosé® RBI 80D as@rhiged ?
(1) o 3 &, S50 + RBI 56 &, 386 &eex
(2) oredesg ergoOo S50 Dexen + RBI 86 dsy 388 Saree

(3) @wo 3G &) 533 + Tedas ergotho S Josen + RBI 5§ & 536 &reex

TB) B0 53 &) 500, T S eIy 25080 SNCs Jog00 T Sesey & Sme: D00 careey +
RBI 3565 &%) 386 &dregey

52. The part of investment (Increase or Decrease) which takes place due to change in the level

of national income is termed as

(1) Gross investment (2) Net investment
(3) Induced investment (4) Autonomous investment
2 BATral Foxd’ Sty S0 soh Depnd grTd) (REKHEEBE Sse) S50 HNE
1) 5570 28308 (2) V56 ey w\,\
(3) 3% Deped (4) Ssabo B8 gg%ga:&
53. There is no GST on which of the following ?
i. Petrol and Diesel ii. Liquor
iti. Electricity supply to consumers iv. Services of Charitable entities
(1) i, ii only (2) i, ii, iii only (3) i, ii, iv only {(4) All of the above
8oB 38" 3e32 GST 8tk ? - ot
i deseo So0am daé gﬁ i, ©5/505350 5
iii. AR s BE0° iv. &8 Soge & ?a«ﬁa
1) i, ii oo (2) i, i, iii S B) Lii,ivsresd [ @) 250
[V ol
54. What was the primary reason for the current account surplus in 04:2023-24 2
(1) Increase in merchandise exports l (2) Surgc in services exports l
(3) Decrease in imports er remitiances
2023-24 Q4 &' 53065 &5T 05 gree Dorents FREoE 5m0 Dloed 9,
(1) %00 BSOS DGO (2 S5 ammau@;gcbmcse
(3) BrSEE SKse (4) w08 dopen |
20 (B)



55 Which of the following are included in the Reserve Bankef India’s Foreign Exchange Reserves
(FER) ?
a. Foreign Currency Assets (FCA) EIFE i
c. Special Drawing Rights (SDR) @ 4. Rcser;yg Tranche Position
(1) aandb only
(3) a,band c only |
Bes5; er508 ©h Rodai® 238 SrEE @535 Voed (708 I8y Y08 %) (FER) 808 57¢38° 52
Stheceon ?
a. 238 13 eyes (FCA) b. worso
c. 5358 gronoh neo (SDR) d. deb W S50
(1) aobatub :méw 2) b, ¢ B d .;&J“@éﬁ:
(3) a, b Sodaky ¢SSR »
56. Which of the following are the major provisions ot t
I. Provision of licencing. W E

1. Expansion of public sector. m
{11. Emphasis on small industries.

(1) Tand Il only 2) 1l and I only
(3) Iand I only | @ LI, i
SOEE Do BomTe 195687 HERS JeoGITTIT T
L. Sy0h G3oo), Jexoiss. :
I1. Sgosdon A50es.
oI 9% :ﬁ&@&be& g,
(1) 1:508c%0 I @S 2 e
(3) T So8aks T Sreso

57. Match the following Special Economic Zone Pmducnon Units in (List-I) with their locations
(List-11). (Common codes for English and Telugu Vers:ons)

b. Gold

istrial Policy Resolution 1956 ?

List -1 List-1I
a. Divi’s Laboratories Limited-Pharmaceuticals G i. Nellore
b. Parry Infrastructure Company-Food Processing ii. Kovvur
¢. White Field Paper Mills Ltd.-Writing and Printing P iii. Kakinada
d. Indian Farmers Fertilizers Co-operative Ltd. (IFFC O} iv. Visakhapatnam
Multi Products ;
8ob BE 6Bt Hotrod' &S Sores (wrdo-l) &2 wéa @saanes‘ (zBe-11) 56yl
e - 1 At
a. 6D BETLOR OWBE FURTeIssS i. ders
b. b aég‘}o 55,5 ¥02D-9& Prddoh il S EE
. ae,ﬁ§ 5556 2065 Bk 8t Ssteig Boeof 556 i, v s
d. qoédbrs 36,5y 20865, §-es53:35 82036, (IFFC@;@ iv. DPpseno
WTVE eSS0 i
Codes/S*Ees : a b ¢ arn 9;?-

) S E e 2

(o~ v i i i ,
3) 1 | S m e
4) i il iii iv

21 (B)
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58. Match the sectors given in Column — A with their correspondiig Gross Value Added (GVA) Growth
Rates given in Column — B (Andhra Pradesh Advance Esumﬁb&s 0f2023-24). (Common codes for

English and Telugu Versions) ENE

Column —A % Column-B"
a. Agriculture and allied activities &l A 521%
b. Industry B. 8.02%
¢. Services C. 1.69%

AL Tood™d 5, & oS 7 Rogods (e&o@,’;@ﬁ% 2023-24 00y wolre $5°50)
GVA 58 BeSo SeBeyed.

Too—-A o0 - B
a. SpTrao b wabwoeg SSerares A, 5.21%
b. S8 B. 8.02%
c. 2o Soifo C. 1.69%
Codes/5*Ges : a b [
ﬁl) & B A
2 A B C
3) B A
4 C A B

59. Which of the following statements accurately describe the emzmnmental impacts associated

with agricultural practices?
I. The application of synthetic fertilizers and pesticides rr@j,&result in soil and water
contamination. Lad
II. Sustainable agriculture focuses on preserving soil health-and protecting blodlversity

III. Modern agricultural practices are unrelated to the depletion of freshwater resources.
IV. Expanding monoculture farming supports overall ecosystem stabjlity
(1) Hand IV (2) Mand IV (3) land I (4) Tand Il

RIS g%&e‘ﬁ.ezﬁ BEBE &y BogHtes BerTresd Sod el = < 5853 Punorne 5&‘)@5‘5“&1:
I 2085638 Hospen Soddhs HErsctn Tt So ;mw@\» Soohedd o
I 508 Sgsaraie Jo 8’ mgd) Sot§oisto Sobaks z;ﬁéi)mf" SgonEion %Mma

g
-E

I esgiods Sl HEEet $0oDlel S50 s Bowdto Se. 40
IV. 355%ey6 :)ééii“onmg DBoitio oo BogHLes IgS @W%g SPCNERCB.
(1) MSBas IV (2) HI 508k IV (3) 1 s08a%s I (4) 108aso I

60. Which of the following is not the target of AP Electronics Manufacturing Policy (4.0), 20”4—29 ?
(1) Increase production in the State to USD 50 Billion
{2) Attract investments worth USD 10 Billion

| (4) First time entrepreneurship creation of 2 lakhs '
Eob Te35 00 AP JO I8y Sooge 500N 2ren (4.0), 2024529 oo S 2
(1) oged’ a5 USD 50 HOAHIL DosEso

(2) USD 10 £9a0g 0038 depncos essotito

3) SOIOM 5 ofe 50008 &TD Kend
(4) SO0 2 ofo SSLHSS :E |

22 . (B)
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61. Special Drawing Rights is the currency of International Monetary Fund. This is in the form of
(1) Paper currency
(3} Silver and gold both

eping entry only
(g OB (IMF) Goo%, (53550 (ﬁm\).

{1) 9:9':3 580y ?) Best .

(3) Jod, worrdo Sokr (4) Qe Bo ISP (2305 oon Qo@) ;355

62. Statement A : Andhra Pradesh ranks 1% in the productivity of Oil palm in India.
Statement B : Andhra Pradesh ranks 2* in the pmductm@ of Mango in India.
(1 ) Only statement A is correct

?i"‘%:%
éi?"%

:s‘-@qrsbo A: d“tﬁé‘é?f}%oés o008 T8 diemEsE” eso@{aﬁ% oo 133 FRe8 dod. 1 E]
Tgarssso B : grouslod” Sodd 3o @@*xfﬁgég‘ BOIHRE oo 2 5 %;5055 éod. %%
(1) Tgargso A Sr@ds S350

[M&’sc B 330 5856
(3) Bodis ﬁ‘ﬂm"&) A 508050 B 8832

(4) Dok TgPrgTren A 500w B XSQRS;’} =5

Foa
Fagiiant

63. Which of the following statements are correct regarding PURVODAYA scheme introduced
by the Government of India in 2024 ?

'I. The PURVODAYA scheme aims to improve infrastructure in the eastern part of India.
[1. It deals with Buxar-Bhagalpur Expressway. 2.3
1Il. New Delhi-Kolkata Industrial Corridor is being devafaped as part of the PURVODAYA

scheme. EE
IV. The primary goal of this scheme is the development-of Gujarat State g%
(1) L, only (2) L1, Fonly
(3) II, I, IV only 4 LI IL IV
2024 & 558 38080 FFES ;;wﬁ“’scsoﬁa $565°08 Sowofods $od EESeE” HOIY AV 9
L 8isa 5o grosBEod Sty Frood’ STDE SErairems JoBGHEs Sggom
ERER. 2.5

H 30 2.5«5 grriory JEBRID Sowofodod.
1L wé%-gséw SBEDs 5665 6By o :3@3055 gPitc.
IV. Kowod ogo 950 B B o50. o
(1) 1, [ Srsds @) L 1L, I S5
(3) 1L I, TV somgido @ LIL I,V
23 (B)
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64 What challenges does India face i zmanagmg its oil consumption ?
(1) Lack of domestic energy dema@
(2) Consistent global oil prices ¢

o7
10

fluctuating global oil grices I

352080 2}23(533”:?4:}\ Dronesod’ erestiEo Joroed ra;mm 706008 ?

(1). BBaH 30 wSZ}J“’“LE BEES%0

2) = @owms, B30t 50

(3) =85 Ao &3 30005) oS Airen SoBci SoBEHUL St G Iruiniipes |
(4) Djpore Tsto 3)@5\.3.: Pad

65. Statement A : All India Per Capita income for the year 2023-24 (PE) is estimated at Rs.1,84,205.

Statement B : All India Per Capita-Income given above is lower than the Andhra Pradesh Per
Capita Income for the year 2023-24 (AE) (at current prices from 2014-15 to 2023-24). EE

{1) Only statement A is correct

(2) Only statement B is correct .

(3) Both statements A and B are cofrect

4) Both statements A and B are mncorrect
TR0 A 1 2023-24 So58o08 (PB) Bootho GroBd¥o BuE Sotd eabe &, 1,84,205 i+
BSOS Sahedod.
Tsrsso B 1 D Soode grosdio Se 150 escrao, 80585 2023-24 (AE) 8010 esrulo Kotl 858
(2014-15 S00d 2023-24 S5 (08 GO0 F5°50).
(1) Tgargsdo A Sr@ds $838
(2) Tgamgso B 3@ $330
(3) Dodi Tgarsires A $0ai B 8850
(4) ot FgrgTen A So80kn B 863D 59

66. Which of the following is not a method of measurement of National Income ?

(1) Value added method (2) Income method
(3) Expenditure method {4) Cost and Accounting method
8ob 38’ erdab srardy O3 5658 =08 D8 ?
(1) Deos E'GoDS 5B Q) soran cas:&@
(3) Sgo 2GS (4) & ;L@ciix ST oon é«é&
67. A person who has ultimate control over the affairs of a factory under Factories Act, 1948 is
called
(1) Occupier 2) Manag@z" (3) Chairman (4) Managing Director

Ts500 $830, 1948 Bs°to Soyms JgSTETreDd wodS Joo@es SO &y 5580 ger DRSO 9

[ (1) essopand l (2) 3Jesb (3) 358 (4) Bo3eoh cogd

24 (B)
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68. Which of the following statement(s) is/are incorreot‘;égarding the GST Council (GSTC) ?
1. The GST Council is a constitutional body cstab&hcd under Article 269A of the Indian
Constitution. "
II. The GST Council is responsible for making reé‘éiﬁmendations on issues related to the
* Goods and Services Tax. %5-‘[&1
I Every state does not have an equal vote in the GST Council. =
IV. Decisions of the GST Council require a three-fgﬁ%ms majority of the weighted votes

of the members present and voting.

(1) Tand IV (2) M and Il (3) Fénd 111 () Only IV
%

GST T4 (GSTC) & sowo§od $ob $ei3ooSed’ 08/ 8y ? —
I. GST T 630 g8 TargorioS™ e98S 269A 5700 FHoTwdS 8 TEoll 903. [ ‘
1. GST TS eresyss Siuden So8ako e SRnk Sowodods SSoRep My snm Sabio
I GSTEDNEE (58 008 Bars 8w &0, 2
IV. GST &3 ot Aoireth HesBs So0ain é.es_aﬁ Bxoy 38050 0086 LE° Teshow
Sareis Sodon Joerded eSS0, {a

(1) 158050 IV (2) 1 So8as I (3) T80 I (4) 1V 57

69. Which of the following reforms have contributed to the improvement of the Ease of Doing
Business in India ?

(1) The introduction of GST (Gm and Services ﬁi |

(2) Removal of all foreign ownership restrictions ak}ndlan companies

(3) Nationalization of all private banks

(4) Expansion of public sector enterprises into new sectors

OF 40}
i
5[=]

erosBes Tsrto Batio wosto SabeE God Beugndg 28 Eeesidod ?
(1) GST (3390 000500 Die S50) F59% 2008
(2) rEho Soudes® ey DY alrasrsy $0Nies Fehosto

(3) & @365 ergotoo BTSSR

@) Eebson soges §'¢ Sorrd 8 Ddosto
25 (B)
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70. When currency is bought at a lower price at one place i the foreign exchange market and at the

same time sold at a higher price at another place, this pragess is called

71.

(1) Arbitrage (2) Rationalization

(3) Annuity (4) SemiBombla

BB S8 Ded (SUTES)E” 28T S (550 BN Tofes 3, 68 soHod’ 557 Fes
S 0 A0S ﬁwm 5o (S8 Boer. EXE

(1) So8s58850 (eﬁ&@ag.) (2) 33"&220@558’3 m

(3) ST (Ariosed) (4) 2doeroer

The situation where a country simultaneously imports and exports the same product is called
(1) International reciprocal trade (2) Inte:ﬁ_al reciprocal trade

(3) Factor reversal trade (4) Intra-industry trade
o5 B0 Dol 13 G0 Br:d S 500 oD T 0 5 o0 Tel6 &) eoerth 9
(1) ©oSEdaH B8NS Tedexo (2) ©oBgS H8HG Tedeso
(3) Fssbesad @& (4) 30er-308 B8

. Which of the following statements is/are correct about Fomlgn Portfolio Investments (FPI) in

2024-25? b
The Indian Rupee (INR) moved in a narrow range with low volatility despite FPI outflows.

e

1. RBI set investment limits for FPIs in debt instruments and Credit Default Swaps.
1IL. FPI investment limits in government securities and corporate bonds remained unchanged.

IV. RBI issued an operation framework for reclassification of FPI investments beyond
permitted limits.

(1) Iand IT only (2) 11 amilV only

(3) All the above (4) Noqé;@f the above

2024-25 & 238 FEFOB> 33GTo0eSe (FPI) 100D #oB exsos’ SaE) S3O() ?
L. FPI ersrg 868open (eeife0) ayined gros sodrom (INR) 8503 eﬁ‘gée‘.‘sg TS

gﬁeaesﬁ 58808.

. o5 ddaren Sodato Ses oD 20® (B8&S &> 5 3"5“.)& FPIo §%0 2ERBE BOBOLB
RB] Dgossodod. EEE

L @50 28750des” sbaio SEY3eS erogd® FPI 2¢58d 358Dssow 376850, E%

IV. &:5:508005 D880 20005 FPI 2653060580 u%§§55u6@$§ RBI &8 5°07g508s

50 (535030 o 360 ed 3208,

(1) 1500050 I1 S0 (2) TH S8 [V sSesSo

(3) 230 @ 23 =5

26 (B)
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74.

Assertion (A): Devaluation will lead to improvement in balance oftrade.  EEE
Reason (R) : Devaluation will lead to increase in price of exports. (=

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation-of (A)

(3) (A) is true and (R) is false

(4) (A) is false and (R) 1S true

Deses (A) 1 (G535 oo Shosd Tedesy BxdBo0ss Jotroesetd T8di0d.
Tor0 (R) : (5355 Deoss SO MHZE® (580 RGeS Trodged.
(1) (A) 556055 (R) Botir Deso, So80 (R) eS8 (A) 0%, 505 Ve

(2) (A) 30005 (R) Botsr Deso, 60105 (R) €38 (A) Gl 505 Distsed S0

(3) (A) dezo 30w (R) By

@) (A) Say, 550050 (R) 080
EIEE
Which organization launched the Credit Guarantee Scheme for the Livestock Sector ? %‘%

(1) Ministry of Finance
(2) NABARD
(3) RBI

(4) Department of Animal Husbandry and I-)airying

S0 SordE BAS miBond S O Hoy E3FR¢e0 ?
(1) egs SocBSs TP

(2) b

(3) RBI

(4) 5 H0SCE S0 P OEe TP

TS

The severe balance of payments crisis, faced by India in 1991 was characterized by

(1) High inflation, low foreign exchange reserves and a large Tiscal dericit

(2) Rapid industrial growth, increased foreign exchange reserves and a trade surplus
(3) Low inflation, high foreign exchange reserves and a balanced fiscal budget
(4) Strong foreign investment inflows, low inflation and fiscal déﬁcit

19918, 5ro8890 0T BERos w5BS) e BRooed) vof o §ob Dgorr JEI0ed.

b_l

EFE
hE]

(1) 8% B sereo, a&ﬁ:}% SOE Doges S0a0 2 Gy © e,

(2) IrSoBAS FOEIE HT, DOAS B 576 Degen Jo0aLL Tedeg Jorded
(3) 8% BT 5oy, ©fs DBE SrCY Degeo MO Sodey ePs wFes
(4) 23035 BB Deyww FI0, S (BT 5gE0 Bobobo Qs &ew
27 (B)
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SECTION -B
SCIENCE AND TECHNOLOGY
76. Match the following : (Common codes for English & Telugu Versions)
Waste Type " Appropriate Disposal Method
a. Organic Waste % I. Incineration
b. E-waste = [1. Composting
¢. Hazardous Waste 1. Landfilling
d. Broken glass pieces IV. Recycling
S5 Oy ol 1588 Fohod (disposal) HGSE K6 e0d.
Sg Uo ool (GFwd) ;scg&”
a. VoL J5pen L &S0
b. &:-33 — 1. Sorgsoess 8 35:9.5_\ SAFES
{5y St (boﬁ"‘goﬁ)
C. (BITEES Jgres - I S5ceso Kowed® iyreko (evgokndoh)
d. SADYS rree Soo¥eo IV. 558 22@3re (§280R)
Codes/S*Ees ¢ a b ¢ d :
O 0 vV T 1 )
@) v 11

3) n v m I
(4) A || [ 1

77. Which of the following public health campaigns was launched to improve sanitation in-India ?
(1) Swachh Bharat Abhiyan )
%‘mhan Mantri Jan Arogya Yojana
(3) National Tuberculosis Elimination Program
(4) Mission Indradhanush
erE85508° 3o 38" D pert ST ¥ 6&3%w Fotors .ch°th§ {ﬁfdoeﬁc}mm o EEE
L) 55 2285 DTS i __
(2) BT 200 ud et Bres
(3) =Bab o TS SEESo
(4) 2050 0EBEION
78. CITES (Convention on International Trade in Endangered Species of Wild Fauna and Flora) is

also known as
1) Genev i (2) Kyoto Protocol
(3) Washington Convention (4) Paris Agreement ,
CITEgJ S (908NN eoduereo 20 5§ Brdves’ eoBgdoD :maago » $5590) g e
WO
(1) 8z 50590 ) 555 @eS'sd
[3) Toohe varado ) (4) 8% exyotso

28 (B)
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largest installed wind power capacity in the world.

(2) Second

(O oo, _] 2) Boiis

(3) Eighth (4) Sixth
d DY & @”aoéa&da’) W:SA’)%%N DA &ob.
s (4) 03

80. Match the following : (Common codes for English & T@Tugu Versions)

81. Project that is not associated with International Solar

82.

Waste Disposal Method Pros/Cons '
a. Landfilling I. Low-cost, but has-dong-term environmental impact
b. Incineration II. Reduces volume of waste, but emits pollutants
¢. Composting III. Produces useful by-products like biogas, but requires land
d. Rccyciing IV. Conserves resources, but needs infrastructure
Sgese 630 358 ol ogred dor Syl aﬁeﬁsea@ﬁ
Fu e Tiev e (&2353335) 850 opPoo/Sapes
a. orgolbBoh L %9 ¢85, 59 angag SorgS0E (HgraR) SO &oeaod
b. &S0 . 3o kb VN ﬁ&&’pﬂo&, =D SPensy SPUsTOR) ARG
EEE Bxiz00
c. SodHoh L 2@rmS Soe3 aSEFIEERS edes B0t &6 B590b,
50 40 sibo |
d. 6280R IV, 3505 $otash, =D ST Stodaires esso
Codes/5*Gen : a b ¢ d
N n v 1 m
2) v I {1 ;
6) T 10 v
4) v i I 11

(1) ITEC

30630y:556 Ferb wodhd,y (ISA) & Domoto & @”ﬁg“

(1) ITEC

(1) Kyoto Protocol

(2) ISTARC

(2) ISTARC

(3) GSOWOG [ (%) KUSUM

(3) 0SOWOG (4) KUSUM

Which global summit led to the adoption of the * gcnda 21” and the “Rio Declaration™ ?

(2) Earth Summit 1992

(3) UN Climate Change Conference 2015 (4) World Health Assembly 2000

0 S50 BP0t $5S0 (Red ¥dyed) “edos (svasgg&o 5638) 217 Sobaks “BE &EBS”
(BAP HELS) esRTOOSER 28 oBhod ? _ Chg

(D ?5&56 @GESSS"QS

(3) UN :%':Des ok 30;3;65‘3 2015

o
Ear

(B)



83. Which of the following bioremediation techniques is used to treat oil spills ?

(1) Phytoremediation {2) Bioaugmentation.

(3) Bioventing 4) Mycoremedxatw_n EYE
3000 Dotseress B oS $obd Te3E° D o@rdleddnd :’;é@b GRS ? E}ﬁ
(1) peSodedalnd Q) woreRotie :

(3) 2@r3oedoh (4) ETWAEBS

84. Assertion (A) : National Biofuel Coordination Committee needs to approve use of surplus food
grains for production of ethanol for blending with petrol.

Reason (R) : Farmers are at risk of not getting appropriate price for their produce during the
surplus production phase.

(1) (A)and{R)are correct and (R) is the correct explanation of (A)

{2) (A) and (R) are correct but (R) is not the correct explanation of (A
} {A) 1s correct but (TE) is not correct

{4) (A) is not correct but (R) is correct

TS (A) : S Senal 50d ¢8HE Doven Y oI moamaa B B 300N
SBoS5ah 8oed &3 Bod. ‘ - —-—
TEese (R) 1 o0 6 95" oot B85 adhSe ¥35 66 f\m’\ RSt &od. @5%}3
(1) (A) 30800 (R) 83D 3080w (A) 8 (R) $538 s0es
(2) (A) 506050 (R) $85 50 (A) & (R) 385 D568 5260
(3) (A) =058 572 (R) 9050 5%

(4) (A) 3358 520 572 (R) 5850

85. The mission of the Ministry of New and Renewable Energy (MNRE) is

a. Energy Security d. Energy affordability
b. Increase in the share of clean power e. Energy equity .
c. Energy availability and access
(1) Onlya,bandd * (2) Onlya,c,d and'e
£(3) All of the above ) | (4) None of the above
g 3500105 DICTHEE 3053 S0088 2 (MNRE) G, 050
a. ¥ s aErg ¢ BB0s

b. 53y (§5) 336 Terd’ orosse BHE . 38 S

C. ¥ offt S0 eotoeren £

(1) 3, b So0ckn d SrE (2) a, ¢, d 50050 gNrES
E t:.si‘m_ ) (4) 230 =9 :

30 ®
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86. Which of the following chemicals was relmé in the Bhopal disaster of 1984 ?
(1) Chlorine co] (2) Methy lsocyanate
(3) Ammonia L1 (4) Hydrogen Sulphide

5 208 ErahTos® 1984 & £506 st atose sonse D8 2

(1) g8 il (2) 2038 mRfaRe (MIC)

Ealt

(3) eBmRAr el (@) B 856 v
87. What is the primary application of bioremediation ? [=]

(1) Air pollution I (2) Soil contamimaton B

(3) Noise pollution (4) Waterbore diseases

SAFBRAGRS Gty S B0 38

(1) Take sPeosgo L2 Bozase

(3) ¥y seulo Lo (4) 28 oo 38 gtioey
88. Whieh of the following is true about the “Circular Economy” ?

It focuses on reducing the use of fossil fuels
' { 2) It promotes the reuse, recyclmg and repmr of materials to reduce waste
4 It focuses exciuswely on reducmg carbon emissions EYE
ST Y SR (5,506 I58) $08BG0D $o8 T 08 Jeo ? sy

(1) 3 B oo IDATTD, SAOSERER DERE0E
2) 30 SyTom BROSERE SEge DO 1o, HIGRATO (52 ST0N) o005 SOOSBO8

S

""*‘M

P& t0od
(3) 30 Bo¥ garmg (ORO0) SHE R BFByTaon

(4) 38 6,5 smores ShoSops PBgsore Sy 008

89. Assertion (A) : DHRUVA is India’s Iargcst nuclear research reactor.
Reason (R) : Advanced Heavy Water Reactot nvisages large scale utilization of plutonium bearing
spent fuel.
(1) (A) and (R) are correct and (R) is the
(2) (A) and (R) are correct but (R) is not
A) is correct but (K) 18 not correct

ect explanation of (A)
correct explanation of (A)

TES (A) DHRUVA 95& g}*&éfﬁa‘@ @® ¢ wen BOFES BaxrEs. B
5090 (R) 1 oSS 70 e0b BcIrEl Sres ako &y 98 3% FOGTR) B IBS (
DISBA0D. ) DR

(1) (A)300aks (R) S0 So00cko (A) 8 cﬁ%ss paTe )
(2) (A) 508053 (R) 5359 5 (A) & (R) 3583 D568 s°6io
(3) (A)DSS §
(4) (A) B30 60§V (R) 5036 wad
31 (B)




90. Biogeochemical cycle in which the main reservoir is not the soil .

(1) Sulphurcycle J(2) Nitrogen cycle (3) Phosphorous cyele; (4) Calcium cycle
9 ABFEATIWES SEcE’ Jo B SeoreHd 5 9 P

(D) Soboto )@ eSS () oo o .3 (4) Quso o

91. Ayushman Bharat primarily aims to provide healthcare coverage to which group ?
(1) Urban middle-class families

' (2) Rural and poor populations
' enior citizens

(4) Private healthcare providers o
00 GRES EREZOT D SIS &365315 DobEExs @odoisto e;gséﬂ% 2E5008 ?
(1) 3665 Sofg-SOHS Boeaoerew
a3 e l
.Sq}dgen el 2e)
(4) PEOS8 dowoio B b vosgen HEdes (@3¢5 86 Prasey)

o

EFE
0]

(o

92. Match List—I with List— II and choose the correct answer using the codes given below. (Common

codes for English and Telugu Versions) \“
EE List — I (Solar Park) List — I (Capacity in MW)
EI&% a. Hybrid Solar Wind Park Ramagiri I 1000
b. Ananthapuram-I Solar Park . 160
c¢. Kurnool Solar Park Hi. 1500
d. Ananthapuram-II Solar Park V. 500
w12 wder - 11 & $02ey0d 5080k 3ol 3 §'Ges a3ariod I3 B3
doisfod. ;;;;; —_—
oo -1 (Fb 6) e - 11 Gorares *mga) g‘?&
a. OSoR0 @G Aed Jo& 6, L. 1000
b. wospo-] Herb 6, I 160
c. §omen Ferbard), L. 1500
d. escspte-ll Ferb 6, IV. 500
Codes/S*Een : a b ¢ d

(1) I m v I
) 1 0 -m N
@G v o m I
@ m m 1 IV
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93.

9%,

93.

96.

97.

Which technology can reduce the environmental impact of itional farming, especially in water
scarce regions ? o~ EYE
(1) Drip irrigation a3 m

(2) Chemical pesticides

(3) Flood irrigation

(4) Monocropping

BOPgIE0R ORI SgSRPai0 GBoo), (TR, (;ina)&prv e BTG &) @romred’) ShosKe

SroE0ss D8 9 o EE
(1) Do 250 %“%
(2) Coroos Hibromotoos
(3) 366 Dedreocse -

(4) Ser 23 Hotaso 2.8 grd’ Sodowoes (RrSEdof)

Radio Astronomy center is located in

(1) Trombay (2) Ahmedabad (3) Dhanbad (4) Ooty
A oty 375 Soo e &ob 2

(1) ercd Q) esyows 3) 58" @) &)
Subject that is not associated with Ayushman Bharat Digi@giMission

(1) Arogya Mitra (2) Health ID

(3) Sand Box (4) Healthcare Professionals Registry

SAunS ersd Atad DonSS Nowodio 8 Msewo
1) &0y Qo 2) 935655'19
g D0k &%) (4) S KERosEe DD ae@g

State which is the largest producer of wind energy in lndfa

(1) Andhra Pradesh [(2) Gujarat ) (3) TamilNadu (4) Kamataka
TOSEEOS” B 535 ¥83) 6thE 13 o°Fo 90 2

(1) soEds 'ﬁ%_%o (3) ST (4) sgess

Which of the following is an example of an environmentally friendly technology used in agriculture ?
(1) Genetically modified crops (2) Organic farming

(3) Pesticide spraying m AYE

808 TIE S5sanos’ EarAeS St eire FEEBSEH D6 sTirtn ? Rt

(1) esSogidore 35ty IoBS Sotrew (2) SodeliyS58050

(3) B BISD (4) S5 BP0

33 (B)
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98. Match List — [ with List— Il and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)

List — I (Emerging Technology)

a. Artificial Intelligence

b. Open-Al

c. Internet of Things (loT)

d. Augmented reality

List — II (Scientist)
I. Kevin Ashton

II. Sam Altman

II1. Thomas P. Caudell

IV. Alan Turing
rder - [ erdor - 11 & $50Fenod Sodak $ots 7S S'&eis &3BPRoD $8S BITEa)

e - 1 (F558)

L. o500 5. 3ad
IV. eod ¢osboh

Jos8od.
e - I (D%Qef dxyoe)
a. 5B 3.)(‘,5&3‘: I 320 &%
b. &5 Al (Open-Al) &% [ 5 egsrs
c. 3oesdyed & ofy (IoT)
d. eRosE Sasrde
Codes/5*Ees : a b ¢ d
(1) I 111 v Il
(2) v Il I I
(3) v I I I
4) I v 111 [

(][5

99. Which of the following factors contributed most to the burden of malnutrition in India ?.

{I ) Lack of access to clean water

oor dietary habits and Tood 1nsec

verconsumption of processed 10

(4) Increase in environmental pollution

ProSBE0d" DRSS 63 5100 DENERE #od sowes® 08 s BIretdod ?

(1) SR D eooerend” S5Fsco
—

urity

(2) TegB ¢ 8R eS8 LOTER 0L & O GGG

(4) dTg0Es SPeoSge HBMG

100. Which Indian city is recognized for adopting zero waste concept in
(1) Mumbai

(2) Delhi

(3} $Oi3 D"C‘Ot o hiob) ar\.}e) (L:v n.{") Weded

538 SoPTes efor S8 St

(3) Pune

OF 401

sehd waste management ?
: l (4) Indore l

P05 S5 Wgred’ (F8E [ BodelRool) By Jge ITT) (£ 5"“*3@ SH)

ES0RBODNSOEETET & OB SKS0 1003 Zrobod ?

(1) 30008

) ¢&

34

(3) o3

4 aoﬁg

(B)
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101. Statement A : Natality refers to the birth of mdmduals ma popuiaz;on
Statement B : Natality rate is expressed as the nmnbergaﬁ individuals produced per female per
unit time.
(1) Both statements A and B are true
oth statements A and B are talse
(3) Statement A is true, but statement B is false
(4) Statement A is false, but statement B is true

TGRS0 A 1 2535800 630 ergrd’ S HEpEs Bryed.
Tsargo B 8 alardeS Bsoabod’ 28 § ool &y S
S 8580SeEE0b. '
(1) ok Tsgrsares A Sodoko B 3859
(2) Boks EVE VMY ASBas0 B éﬁw\_)

(3) Tgarsso A S350, 0 Tgrgso B 8%y
(4) Tgamsvo A Sy, 50 Tsrgo B 19350

102. How many Sustainable Development Goals (SDGs) has the United Nations established ?
| (1) 17 | (2) 10 (3) 12 4 20
HELT B0 o) Rt e%h egtess (huesd mim 7'dy) (SDGen) Doyt Bod ?

S
()17 ] (2) 10 = 3 12 4) 20

103. Which Organization regulates Genetically Modified Org&aisms (GMOs) in India ?
(1) Food Safety and Standards Authority of India (FSSAT)

(2) Genetic Engineering Appraisal Committee (GEAC)
entral Pollution Control Board (MB)

{4) Indian Council of Agricultural Research (ICAR)
mefgézgw eRogRToNT 6y oS EPHess (GMOw) 9,
(1) DE 55 w0l Fowby eprde 5 godat (FSSAD o+
(2) B338 goesddo g@m@ 2083 (GEAQ)

(3) 3o Steuiy Ao Sxekd (CPCB)

(4) 3odahs TS uh whsewd 625, (ICAR)

104. India’s National Action Plan on Climate Change (NAPCC) aims to address g%

1) Only greenhouse gas emissions
(2 itigation and adaptation strategies for climate change |

(4) Air pollml(m control

.....

2eT008
(i) ASTTD Tk ST SPES
[(2) Torsses STty %"‘;60 S5EBS 000K eEBsn
3) &%Lg}ﬁé 2005
(4) Tral el Jdioes

35 (B)
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105. What is Digital arrest ? \
(1) Arrest made by police when the accused is in foreign countries
(2) Arrest made by police when the accused cannot be arrested p&yszcal ly
3) Arrest made by police when the accused is
(4) Term used by cyber criminals to scare victims
EUE
; Gedeod 508 e o0 ?
(1) Db Hdwes &Sy FDoeo B 0
Q) 20BEBED FBLore ¢ SaBmyt 20w B €0
(3) Jobecd %”a& Boooesg HoooS FySpEs 28000 Sr. &,6;& 3

[ (4) 280 BOW#QJ &Wé&:@&.ﬁ. 200 '23_'?,, 0 D0 ]
EE[E
106. Which of the following is a potential tipping point of global clxma!g.ehange ? =
((1) Loss Ol ATCUC 1C€ )| {2) Reduction in Cﬁ; emissions
(3) Increased deforestation (4) Decrease in solar radiation
Eo0 38 E508 TErStes STy (ed ToeS Do) @ooty, elnoh oS 28 ?
(O | T (@ C0,aqoe S
(3) ORS et AETYON (4) &6 D8oe30s’ %em
107. Geosynchronous Satellite Launch Vehicle (GSLV) launchers have .

(1) One solid rocket motor stage, one earth storable liquid stage and one cryogenic stage !
2) First and third stage solid rocket motors and second and fourth stages [iquid rocket motors
(3) Three liquid stage motors and one solid stage motors
{4) One liquid stage motor and three solid stage motors
BBTNOE SR FeIBeS erod 386 (GSLV) eroisty A ¥R &oerow ¢
(6 agm@mWJéaesasﬁé’%mL 5% SoD0%0 oS O
(2) Dootes o000 ST 6% 0 mmm :Pc;,g&’) 3% B3 0%
(3) Sarées ;_&;’) O TPy S0 28 508 ¥ e
(4) 2.5 (055 &% Irerdo SoBaias Jo3°dd 308 B8 ITerdy

108. Which of the following is NOT an alternative to conventional pollution control methods ? %%
(1) Green technology (2) Bioremediation
{3) Carbon capture and storage (4) Incineration of waste
@b 36" D8 Tropmrab senly DaboEns SEEeL PERETCHLISH ?
(1) AS Ssod @2) eBrBRAEE
(3) S6yS Sopisrer Sodao Dog (4) Sgpess seyo
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109. CR in TUCN red list refers to e
(2) fﬁ‘flicaliy extinct

(1) Extinct in the wild
(3) Endangered

ok 8

TUCN 603 er&eS” CR 3D 505008 2 £
(1) e&38° sosdoddanod (2) EBsSr eotdoldonod

(3) @oBBoDDEIT 0N W

110. Autonomous institute under the Department of Biotechnology (DBT)
(1) Central Food Technoiogzcal Research Institute
| Glass C e

&&@M SR aadi}*@s*mé (DBT) @’;Vcﬁ Rgeio @BORGNO 503 (erS8SS 385e07ed) ;
(1) Dod HE éﬁsnea%é &053 FoRET5es '
(2) 2ood R 207208 626y 33 és:“géf

OEEES qﬁm ok el BTG oBOn )
(4) o086 36 feeoéePE @ol S0 wcired

111. The “ozone hole” is primarily caused by the releas
(1) Carbon dioxide
(3) Nitrous oxide Z3)
“s &S Boge” prrsort 82 ks S f!)éj&)«z‘é)e& Qe
(1) 5t EaBHE (2) £EFE 5500 (CFCe)

(3) 3B eBE @) 2oBs

112. Which of the following is net ene of the three pillars of sustainability ?
(1) Environmental sustainability gz; %inomxc sustainabilit
(3) Social sustainability l (4) Political susta..nablilt_v
Bod T3E" DO KRG ook, Sa57t Fogred’ w56 6
(1) Sogsdes ‘n’aa?gtﬁé
(3) Doz 26.7?866’9

113. Which of the following government initiatives aims to control industrial emissions in India ?
1) Swachh Bharat Mission
(2 ational iean Air Prograrmne

“AP)

(4) Atal M1ss1on for Rejuvenanon and Utrban Transformation (AMRUT)
PEESHE"D B 2B Bebd ST DO ﬁ»@@vmzm«m, DooPBoiseRs ed8olndod 7

(1) Des PSS WSS + iﬁl\%g
2) 5550 56 Soosd & v (NCAP) g&g«g ¥
3) @wsmga e300 OB 2

(4) DItHEsSo BBk Bees BONYN §%0 etd mﬁgg(esmq}é)
37 B
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114. BrahMos supersonic cruise missile is developed by the joint efforts of
{1) India and USA l (2) India and Russia I

(3) India and France (4) Indta and Japan

@)D rbVE Erone §9630 Del Bookng HHE WBHG S0,

(1) grE83%0 SoB0o ao.dR.. (2) grSBGFo Sobakn By
(3) erEudEo SoBak S, (3) GPOBORO SOW0 BP®

115. What is a key goal of sustainable development ?
1) Economic growth with no concern for environmental impacts
2) Ensuring social equity, economic growth and environmental protection

(3) Limling gilobal population growt
(4) Promoting environmental conservation over allgisg.

At F 00 @G Aoy, do¥ 0550 A3 ?
[t (1) Sossses Perare 5 Jeroed ‘éj%,)@b 0% :3\&‘ #
(2) SRy mﬁo"ééﬁo &sw ;Se@di;., TGIOED WESCSQE';&J Ao,
(3) 580 maryr 2BIHGH oo JuXso

(4) ©e3Eol Soogstes SOUFERD P yroiiiio

116. What is the primary environmental concern associal i;vith Genetically Modified (GM) crops ?

(1) Cross-pollination with non-GM crops (2) Reduced pesticide use

{3) Increased yiela (4) Soil degradation @]

azslogsdon 37 Dods (GM) S0t Sonchods 3’6{;@3 BOg0es 305 ¥ D23 7 &
(1) GM 5D St 3E-807 KeS0886)0 (2) Doorossotive TESo BliGo
(3) &ed DERG&o 4) 3o ios

117. How does In-situ bioremediation differ from ex-situ bioremediation ?
(1} Ii‘ is more expensive and involves tmnspon of contaminanis

(4) It requires more excavation g
3O~ BTBIEEING, 25y-nen 2B TEAELNS ma& D3ore Jer éoeod ? %
&

(1) 38 Trer POBIO 50000 Seodpre SFrerosd $OA-actod
() =0 oo Bomam (o) 55 §m€§@

(3) 30 JTEEIOH weorr SPPATOR &SBIAC0

(4) &3 0008 S50 waRso

118. What can be considered a natural source of air pol iu&g&@
1) Factory emissions (2) Power station smoke

(3) Forest fires (4) Ay;tomoblle emissions
SO0 SrOoE0 Ooos), P Sarreo el BIN eSSy % 3
(1) Presb DdPsren (2) 358 S ore

(3) @& Sootaen (4) S agrores
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119. What was the primary purpose of the Air {Px‘eventmn agd Control of Pollution) Act, 1981 ?
(1) Control air quality standards | 2) - ulate vehicle emissions

{3) Promote renewable energy sources 4) @ce use of chemical fertilisers
T (euy IO S080Ks Do) S50, 1981 @y @008 &d¥o S0 ?
(1) 70 T8 BETEPOR) NOLOGIOBGEO (2) TS oo JapoBoisso

(3) DILOT K oS SBoe Fdyrosdo (4) SrosS Judo FEEo Bhosto

120. Match the List — I with List — II and choose the correct answer using the codes given below.

(Common codes for English and Telugu Versions) EYE
List -1 List— 11, e
Type of Solid Waste Management Fancti@
a. Incineration 1. Conversiorof recyclable waste to carbon based fuels
b. Pyrolysis IL.
¢. Plasma gasification I11. Vas
d. Composting IV. Process of decaymg orgamc waste bmioglcaifv
e - 16 erder — I o 3658y 665 andys EEoss e3EFAod ¥33 Hrgard) Joss’od,
ol ~1 dor -1
SPEIZ e B0 muE Pofd
a. oo ) 1 4 @:)6§me Sgpesss G LS
FOFT LI BINEO
b. 26D I 3 &
c. i”m FT‘S?\,Q < IIL
d. ool v 3
Codes/5*Ees a . d

) v 1 I I
) | S— T R TR
3) n m % W
@ v m mn1

121. Which International Agreement does not focus on reé{igging greenhouse gas emissions to combat
climate change ? ;
{1) Montreal Protocol {2) Kyoto Protocol

(3) Paris Agreement (4) Basel Convention
EIRE D cosgbat et Tarstes SrEaos M0 BEIRASSTO T &Zo et Sfoided G

G \u’u«

e g
(1) srogond Fesd ) S FS'es
(3) ﬁhba) ﬁ,‘n’Dﬂng}O (4 2 ¥e “ ﬁs&;ﬁ)'
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122. The terms ‘Petya’ and *WannaCry’ are related to
(1) Mobile apps *~ [(2) Ransomware (3) Virtual reality (4) Mini Satellites

ey’ 3000 ‘TTHE &R Sored A28 Bowofolse:

—_ i
(1) 3B edew (2) TS8R0 (3) SEysd ardes  (4) 202 Zre3Bedy

123. State that produces highest solid waste in India
(1) Maharashtra (2) Andhra Pradesh  (3) Uttar Pradesh (4) West Bengal

rESBH0E" e 108 SgTod & I oFe

(1) S5, (2) SoRde (3) S85 (B8 (4) 33y Borrd

124. Which of the following is the primary goal of Indiéi‘é;"‘Municipal Solid Waste Management and

Handling Rules, 2000 ?

(2) Increasing waste generation

(1) Promoting waste segregation
(3) Reducing waste recycling (4) Supporting landfilling

EE o550 ot ‘5008 208 3R 153830045 500g%0 yogol ey, 20007 GG, BrES o 50
EIREE $od 7e38° D6 ?

(1) %cre; Do @PEyarodito
(3) 5o 35 WA (B2§ch) shosto (4) oplfohs: @Feyrotto

(2) Sgro &8y Douto

401

DF 40!

125. The concept of sustainable development was first popularized by which report ?

(1) UNDP Report 1992 (2) .World Bank Report 1985

(3) Brundtland Commission Report 1987 (4) Rio Declaration 1992

RS e PSS necies O AIBE oo @S eReD ?
(1) UNDP 238% 1992 (2) B0 ergot DIBE 1985
(3) @otsersoh Somnp J308 1987 (4) 6@ A5ERS 1992

==
126. Pollutant produced by vehicles that reduces the Oxygen carrying capacity of Blood m

(1) Sulphur gas (2) Carbon dioxide (3) l'gitrogen oxides | (4) Carbon monoxide
TERE TG0 B8 Daknds D Sy SUSo oo et edjmS 2h g S0 2
() sofTand () seSawdE () suSege (@) sososE
’ e —
40 ' (B)
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127. Choose the correct statement. = L
: ?roducex’s in an aguatic ecos ystem are grec \

(4) The stability of ecosystem depends on consu;g:gs
X3 (95e doiioS’od.

(4) Sorgsses 559 63’».:\?13, :gciécsc ?.3:}033":’{1*.3“&30@ &m‘ﬁoﬁc‘o &otod
3

128. Assertion {A) : CFCs are greenhouse gases th tribute to climate change and increase UV
radiation on earth. ErE

Reason (R) : Chlorofluorocarbons (CFCs) are man mde gases used in refrigerators, %
air conditioners and aerosol sprays.

(1) (A) and (R) are correct and (R) is the co anation of (Az

{2) (A)and (R) are correct but (R) is not the it explanation of (A)
1S COTTCCT DUT (K IS NOt correct %’%

{4) (A) isnot correct but (R) is correct i~

.......

uv 6&Mm 2OTITOR. .
630 (R) : 6wt Se0 (CFCo0) BRE8L, Jond Sodisst) 5080k DE'FE fnos® ne%
EBATACT 5058 VG TaoPHe.

(1) (A) 508a%s (R) 535 5:0akw (A) & (R) 583

s e

(2) (A) 5800 (R) 8832 s*2 (A) S (R) 58 ::m&e:s 80
(3) (A) 5058 570 (R) $BXO $°60 )
(4) (A) 2036 560 5% (R) 5338 &3

129. Which of the following methods is used for solid waste disposal in urban areas of India ?
{1) Composting '
(2) Incineration
(3) Landfillin

{4) All the above .
FPEBOIE R HRE DPord, $oU Jgpess :3»:53* (&;35&6) @08 Te3E° a3Brhod 358
D0/ ? ' X E

(1) SoFoh (Sorgsness Ky X Sarsd aaﬁms) eyt

2) Qa’:"“\o

(3) solp@oh (Sgess Kotes® ;ﬁy"dfgcéo)

(3) 33?02
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130. What is the “dual burden™ India faces in public health ?
(1) Rising rates of both infectious and non-communicable dise:%@s
{(2) Overburdened doctors and healthcare infrastructure
(3) Lack of insurance and financial access o
{4) High rates of both obesity and malnutrition

SerEris08" ero8tio M58 pe0s) “tiotss aPEe” DNoed ?

(2) o8 grto éf) Deoseo BoBatbs by Sosge STVE Bedraiies
(3) é&i’)‘” S8 esgg esodSaereNs {Oﬁ?‘é‘sﬁ"}} 55?35;5(230 s
(4) Leerseao SoBakw AT E% Todoed oot @Y Tex

131. Which of the following is NOT an example of a bioremediation technique ?
(1) Oil spill clean-up using bacteria

(2) Using plants to absorb pollutants

(3) Burning contaminated soil

{4) Composting organic waste

Bod IS’ 20 BAPTWAINS $G8E &orirde S°6 ?
(1) argRBairss &XairAoD DoBS Wl HEIsESEo
(2) ooy SOess SoRotieris BoKps eddriotito
(3) B0odERos 3630 oo

(4) Sodab Sgess 5o Sabeo

&

A=

' O]
132. What is the key characteristic of black carbon that accelerates global warming ? g
(1) It is a type of methane :

(2) It is a short-lived pollutant produced by incomplete combustion
(3) It is released by CFCs
(4) It directly depletes the ozone layer

<
0

[s]
er 280 @y D Sy oFeo fwd T 0R Jnsodo Bged ? [&]
(1) 30 &5 E5T0% WBS
(2) 36 @x}oéj*:é GirSo OrsC edyd Do 3550039§J§ S0
(3) 30 CFCO O0° Dtat0 Sonetosoot ‘
(4) 20 3cor £8°S oo §e3osEnged
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133. Match List - I with List— II and choose the correct answetm}smg the codes given below. (Common
codes for English and Telugu Versions) .

List — I (Biotic factor) " List — IT (Cha ristic feature)
a. Humans EoE I. Recycling nts
b. Saprotrophs E‘ﬁ II. Top order heterotrophs in food chain
c. Reptiles M. Less urinating animal
d. Camel IV. Stenothermal
Do —1 8 wder - 11 5 5638y Gots andys FEeds &5@rAcD 303 BSrmad) Joifod.
e I (225338 e¥E) o - 1 (miﬁm)
a. Srsdes I Pssese ?5
b. ¥y I &% ﬁ"w@wa 35 B8 ES Heo
c. 58xyres (Reptiles) ML S8 Soor@asgs 3o wothod
d. 208 V. 3856
Codes/S*Gex : a b ¢ d
(1) v B ] I
(2) 11 Peorig IV
(3) ] oW .18

{4) v 1 1 I

134. Match the pollution type with its major source. (Comm&&%odes for English & Telugu Versions)

Pollution Type Major Source
a. Air Pollution EE I. Sewage
b. Water Pollution 1{2}% 1. Industrial emissions
¢. Soil Pollution HI. Use of chemical fertilizers
d. Noise Pollution [V. Construction activities
Freoky TR R EERS Sareod $0PFenod.
ey U0 ST
a. 0% 0o L oot 3 (53)
b. 3 sreniiso I ro&as GO0
¢. Je seosgo 1. &3as s ek
d. ¥ sreodso V. ﬁ%m S°é§§@3°&
Codes/S*Ees : a b c d

(1) I o v I
2 11 1 V)
(3) | i 11 v £
@ v n 1 )

135. Which of these is not a biodegradable waste ?

(1) Vegetable peels (2) Fruits (3) Wool-. ) Tm )
2638 D6 28BS 38008 (edrdfitend) Sgiio 6 ¢
(1) &rorad FGeo  (2) Do (3) & (4) SKSo (e3v)
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136. Choose the incorrect statement. fx

(1) CO, is continuously being released because of humam activities

(2) Deforestation is decreasing the amount of CO,
il spiliage causes oxygen deplefion and disiress (o aeguatu, animals

(4) Burning of plastic reduces the germination of seeds in crop fields

Sy 8850 JotEod.

(1) 5078585 S"D§§G’3‘U sSeaon CO, Qoddo DS 30:’13&&&5‘ ob

(2) wb QeiTyes CO, Jooody SAx00 -

2
i

(4) TRES S"QJ&O ;Sg.g S0t mvesj :}gmx, m@egwo éﬁgéﬁoo&

137. Which of the following countries is/are legally bound by the emissions reduction targets set by
the Paris Agreement ?

(1) United States and China (2) India

(3) European Union [ 4 Noné;;;af these ||

285 exsyorso o WBosads amcre B0 oFse $d 878 28(D) Seweor Sennd

a0l (w&w) ? EE]

(1) cnIBE Reby o0k Ter (2) grosdsc Ok
. (3) IS RALS ATrAAS 30 o) Tad)

138. Reason for the melting of Gangothri glaciers of Himalayas
[ Global warming ' (2) Chloroflourocarbons
{(3) Particulated dust 4) Greeh'ﬁouse gases

[wi/ =]
% rSTodiTed’d NS Srsrdsres SORDSEDS st o

(1) o edo (Twd a"&og)l () SEPE
(3) FpuBEE csosiogy @) £ 59 roto :{y@o
139. Population density is generally expressed as
(1) The total number of individuals in a population

e number ol individuals per unit area

he geographic distribution of the population

{4) The number of individuals within a sample area
BT o3 e 3T ;isééﬁo%a@e‘ﬁw&

(1) mrers Jodo S55e Sops
{2 o0 @”oéogéﬁ ;35%3 o )|

(3) marer G0k, PN YK Sowes
(4) IS0 @rodod'R S5 Sops
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140. National Green Tribunal (NGT) was established to -
(1) Monitor industrial pollution levels 0
(2) Enforce emission standards for vehicles _
[ (3) Handle cases related to environmental protection and pollution control ] \
(4) Regulate water quality in rivers -
3558 (S edeogsS (NGT) 58550
(1) o8 sPevy Towud: HB5Rgoito
(2) TIToH &Y PETEres sxove Dabo
['1) C5° 5063 a%&w OG0 ST S CTEIES
(4) é&ie@éﬁ 03 Treago Dabe@osto

Sooueo )

141. Forests that are located in mid latitude areas bem'ec%&gopics and polar region

Tfempcrazc deciduous forests (2) Coniferous forests
(3) Grass lands {4) Scrub jungles
&3330060 S00As (935 Proe ag Ko Sl ¥5od 0Tl &) el ?ﬂg%%
(1) mﬁ‘?‘k&s@@ﬁ} B @ %@“ S8 esdiHed
(3) né gosooes ;
142. Disease transmitting vector is not a Mosquito for wl:;i(:h disease ?
(1) Chikungunya {2) Leishmaniasis (3) Dengue (4) Malaria
@08 38 B oo Tgm SR TR 20 2
(1) DESroag ﬂﬂ%awm: (3) wm S 4) oot

143. What is the primary source of air pollution in {ndlan cities ?

(1) Industrial emissions (2) &glcuimral practices
(3) Residential waste burning (4) AUTOmODIle eMIsSIons
o
: fﬁ; DO ::,hcrég SO0 Breva §3§ B Soreo JRoed ?

(1) o@EwE aryore : (2) ;Sémdi) SGoed

(3) T JgTeds seyo (4 e {m&’)& ST
144. Anganwadi worker is a functionary of which scher '

(1) ANM (2) MMU (3) ICDS (4) NHM

SORST G SUSETE Bowofods S50 58 9 ;

{1) ANM (2) MMU (3) ICDS (4) NHM

45 B)
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145. Match List—I with List—II and choose the correct answei' usmg the codes given below. (Common

146.

147.

codes for English and Telugu Versions)

List - I (Pollution)  FE¥E List — I (Pollutant)
a. Marble Cancer Ok ' I. Methane *.-
b. Biomagnification I1. Nickel
¢. Green house effect I1I. Sulphur dioxide and nitrogen dioxide
d. Lung cancer IV. Chlorohydrocarbons

o -1 & erdor — 11 5 3029y $ots coodys F'Gedd ESBIAOD B3 PS8 JoisE ol

e - 1 (SPeigo) LT IIW =%0)

a. 3r6pd g’ I 20338 :

b. BAFIPALESS  pahs L 58§

c. A IR Herso - ML $exd c:o:x:%é& SoBcin IS SaTByG
d. &880 s IV. §6%rE's 8y
Codes/S*Ges : a b ¢ d

m
@ m 1 v 1 =

3) 1 i I v
(4) v i 1 I

How many core missions are included in India’s National Action Plan on Climate Change (NAPCC)?

(1 s Loz ) 3) 12 4) 10
TEEE D FOSEHE erdolh SOyt Berds (NA?CC) & 22 B35 DABIS000 ()
5%3“{;;@ 2 oo

(M 3 Caz_) 3) 12 @) 10

What is the primary goal of India’s National Clean Energy Fund (NCEF) ?
(1) Promote coal-based power generation

(2) Promote renewable energy technologies and reduce carbon emissions

(3) Increase consumption of fossil fuels
(4) Improve forest conservation practices
o558 erBot &5 D58 508 (NCEF) ooty @¢0¥ %o DRes ?
(1) & &sc’,}"*@é 3@56 mé\@u @ e‘%&f‘omdo

EFE
e
A lE]

(4) eesd mgm ege:a,e,m BarBssE
46 ’ (B)
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148. Assertion (A) : Grazing food chain begins with dead via herbivores to carnivores.
Reason (R) : In grazing food chain autotrophs capture eénergy and transfer to herbivores.
{1} (A)and (R) are correct and (R) is the correct expia?g%éon of (A)

(2) (A)and (R) are correct but (R) is not the correct exﬁlhnaﬁon of (A)
(3} (A) is correct but (R) is not correct
(4) (A) is not correct but ('1'?:) is correct

TES (A) 1 D08 550 Feo (REoR HE BS) SVFoxs esm@“ PrEosRs TSt S0l
SToTGEoeE Ddod. - % - b

35630 (R) 1 2085 €558 Fenod’ e’ 5 pen 82 ;oogﬁi}%ﬁ)@?m& o83 3ow.

(1) (A) 580 (R) KJF)X)ZJ 508k (A) & (R) ;3855 DBk

(2) (A) 58050 (R) :m;) =D (A) & (R) 585 2558 s»ci::‘*

(3) (A) B3O 0 (R) B3B38 70
(@) (A) 5050 560 5 (R) 5080

C1EAD)]
i

EYE
149. What is a global issue associated with the trans«-bcundary movement of waste ? g‘%ﬁ‘

l.ei’
(1) Reduction in greenhouse gas emissions
(2) Sustainable waste management .

l ( §} Fﬁymcaf transfer ol Nazarqous waste Tor reprocessrﬁg or storage |

(4) Elimination of deforestation and desertification

S5re MO e SEO0HE $0dE & (ol Ny Baed 9

(1) AES=D e DsgPsre BhoD

(2) SPERS Sype Ages
rmv S CE008 oo o

(4) " ese0d orESo Sobakn JBEses VST

[E ]
150. What is the main advantage of organic farming over coawptmnal farming ? N%

(1) Increased pesticide use
(2) ngher crop yields in all conditions
(3) Reduced chemical input and improved soil health
(4) Increased greenhouse gas emissions

.._W_

SroTras Sgsrabe S0t Mool SgHdrabo o), @:;3% Eareso D3 ?
(1) HBSootion 2880 DL0Ee
(2) ey é@@&)@@f @bE Soty Bibed
(3) Oaod G0 e S00KD B0 SB N0 = mmm%@ﬁé
(4 @5\”"‘% T GLRCe0 ROKGEo

47 (B)
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